Dividing by Powers of Ten

Dividing by 1/102

970 + 10 % = 56 +
160 + 10 % = 640 +
8,900 + 10 * = 72 +
2+ 107* = 7,900 +
3,900 + 10 * = 850 +
550 + 102 = 64 =+
980 + 10 % = 71 +
1,300 + 10~ = 5,500 +
79+ 107 = 7,400 +
5,800 + 10 * = 160 +
210 + 107* = [/ +
9,500 + 10 % = 610 +
85+ 102 = 65 =+
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Dividing by Powers of Ten Answers
Dividing by 1/102

970 + 10 = 97,000 56+ 10 % = 5,600
160 + 10* = 16,000 640 + 10 % = 64,000
8,900 + 10 = 890,000 72+ 107 = 7,200
2+ 102 = 200 7,900 + 102 = 790,000
3,900 + 102 = 390,000 850 + 10 * = 85,000
550 + 10 ® = 55,000 64+ 102 = 6,400
980 + 10 = 98,000 71+ 102 = 7,100
1,300 + 10 = 130,000 5,500 + 102 = 550,000
79+ 10% = 7,900 7,400 + 102 = 740,000
5,800 + 10 = 580,000 160 + 10* = 16,000
210 = 10% = 21,000 7+ 10% = 700
9,500 + 10 = 950,000 610 + 10* = 61,000
85+ 10 = 8500 65+ 10 = 6,500
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Dividing by Powers of Ten

Dividing by 0.01
970 + 0.01 = 56 + 0.01
160 + 0.01 = 640 + 0.01
8,900 + 0.01 = 72 + 0.01
2+ 0.01 = 7,900 + 0.01
3,900 + 0.01 = 850 + 0.01
550 + 0.01 = 64 + 0.01
980 + 0.01 = 71 + 0.01
1,300 + 0.01 = 5,500 + 0.01
79 + 0.01 = 7,400 + 0.01
5,800 + 0.01 = 160 + 0.01
210 =+ 0.01 = 7+ 0.01
9,500 + 0.01 = 610 + 0.01

85+ 0.01 = 65 + 0.01
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Dividing by Powers of Ten Answers
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Dividing by 0.01

= 97,000 56 +
= 16,000 640 +
= 890,000 72 +
= 200 7,900 +
= 390,000 850 +
= 55,000 64 +
= 98,000 71+
= 130,000 5,500 +
= 7,900 7,400 +
= 580,000 160 +
= 21,000 7 +
= 950,000 610 +
= 8,500 65 +
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